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The series is convergent if |X| <1. Therefore, the interval of convergence is (-1, 1).
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The series is convergent if ‘— 9x ‘ <]l &« X°<=Z = |x <=
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Therefore, the interval of convergence is —5 < X< 5
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The series is convergent if x> <1l |X| <1. Therefore, the interval of convergence

is (-1, 1).
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The series is convergent if |4X|<1, Therefore, the interval of convergence is
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16.

f(x) = arctan(g)
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The series is convergent if

<l = ‘X2‘<9 = |X|<3. Therefore, the radius of

convergence is 3.
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[ tan™(x*)dx
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If you put Y =X in (*), then you can get the equation tan™(x%) :Z(—]_)”
= 2n+1

26.

0.4
jo In(L1+ x*)dx

4n+4

_ (oA, I G Y P _an X
= [, 2D = [ D)

4n+4

_°° 0.4_ n X
_nZ:(;'[O( 1) n+1dX

00 | X4n+5 0.4
;(_1) (n+1)(4n + 5)}

0

0.4
X5 X9 Xl3 X17
— - + - + .00 e

5 18 39 68

If we stop adding after three terms, then the error is smaller than the absolute value of

th . . . .
4™ term (because the series is an alternating series).
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So we have J.o In(1+ x")dx =



